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Question Number : 1 Question Id : 71087010961 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which school of thought laid down one of the principles of teacher and learner role as follows,

"The teacher's role is not to direct, but to advise because the child's own interest should
determine what he learns”

1. Perennialism

2. Progressionism

3. Essentialism

4. Reconstructionism
Options :
71087043681. 1
71087043682. 2
71087043683. 3
71087043684. 4

Question Number : 1 Question Id : 71087010961 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043681. 1
71087043682. 2
71087043683. 3
71087043684. 4

Question Number : 2 Question Id : 71087010962 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the list given below, identify those features which relate to an approach to teaching and
learning in indirect strategies of teaching

A. Engagement in an inquiring process

B. Concept-based content presentation

C. Gaining attention and informing the learners of the instructional objective

D. Presenting the stimulus material and stimulating recall of prerequisite learning
E. Encouraging students to use references from their own experiences

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B and E only
4. C, D and E only
Options :
71087043685. 1
71087043686. 2
71087043687. 3
71087043688. 4

Question Number : 2 Question Id : 71087010962 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. PadA A, B3R C
2. ®HaAB, C3RD
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Options :
71087043685. 1
71087043686. 2
71087043687. 3
71087043688. 4

Question Number : 3 Question Id : 71087010963 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



For use during teaching, from the list given below, identify questions that are ‘process
type’ rather than ‘content-type’

A. Divergent questions

B. Fact-based questions

C. Concept-based questions

D. Lower order questions

E. Higher-order questions

Choose the correct answer from the options given below:

1.A,Cand E only
2. B, Cand D only
3.C, D and E only
4. B, D and E only
Options :
71087043689. 1
71087043690. 2
71087043691. 3
71087043692. 4

Question Number : 3 Question Id : 71087010963 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043689. 1
71087043690. 2
71087043691 3
71087043692. 4

Question Number : 4 Question Id : 71087010964 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: Reliability is a necessary but insufficient condition for validity

Statement II: In respect of evaluation tools, validity is not an all or none concept but it exists
as a continuum

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087043693. 1

71087043694. 2

71087043695. 3

71087043696. 4

Question Number : 4 Question Id : 71087010964 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043693. 1
71087043694. 2
71087043695. 3
71087043696. 4

Question Number : 5 Question Id : 71087010965 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Systems of education which are place-specific, time-specific and person-specific
are said to be formal and are created by laid down law and procedures

Reason R: Open universities and open schools are the example of a formal system of
education because they are created by laid down procedures

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043697. 1
71087043698. 2
71087043699. 3
71087043700. 4

Question Number : 5 Question Id : 71087010965 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043697. 1

71087043698. 2

71087043699. 3

71087043700. 4

Question Number : 6 Question Id : 71087010966 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following methods of acquiring knowledge save time and effort on the part of
the researcher?

1. Method of experience

2. Inductive method

3. Deductive method

4. Method of consulting an authority
Options :

71087043701. 1

71087043702. 2



71087043703. 3
71087043704. 4

Question Number : 6 Question Id : 71087010966 Question Type : MCQ Option Shuffling : No Display Que:
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043701. 1
71087043702. 2
71087043703. 3
71087043704. 4

Question Number : 7 Question Id : 71087010967 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are features of the qualitative research paradigm?

A. The research is concerned with understanding the social phenomena from the participant's
perspective

B. It seeks to establish relationships, among variables and explains the causes of changes in
measured social facts

C. It is conducted in actual settings as the direct source of data and the researcher is the key
instrument

D. It is concerned with the process rather than simply with outcomes or products
E. It attempts to establish universal context-free generalization
Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, Cand D only
4. C, D and E only
Options :
71087043705. 1
71087043706. 2
71087043707. 3
71087043708. 4

Question Number : 7 Question Id : 71087010967 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. PadA A, B3R C
2. ®HaAB, C3RD
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4.HaAC, D ARE
Options :
71087043705 1
71087043706. 2
71087043707. 3
71087043708. 4

Question Number : 8 Question Id : 71087010968 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A researcher administers an achievement test to assess and indicate the possible effect of an
independent variable in his/her study. The distribution of scores on the test is found to be
negatively skewed. On the basis of this, what can be stated with regard to the difficulty level of
the test?

1. The test is very easy

2. The test is very difficult

3. The test is neither easy nor difficult

4. The test is easy and needs normalization
Options :

71087043709. 1

71087043710. 2

71087043711. 3

71087043712. 4

Question Number : 8 Question Id : 71087010968 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043709. 1

71087043710. 2

71087043711.3

71087043712. 4



Question Number : 9 Question Id : 71087010969 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A researcher has to observe codal formalities at all stages without scope and
leeway for offending moral and ethical norms

Reason R: In respect of data collection, data analysis and interpretation there is, however, a
considerable scope of being ethically vulnerable

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043713. 1

71087043714. 2

71087043715. 3

71087043716. 4

Question Number : 9 Question Id : 71087010969 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043713 1

71087043714 2

71087043715. 3

71087043716 4

Question Number : 10 Question Id : 71087010970 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The scope for employing ICT support is relatively more in which of the following stages of
research?

A. Problem formulation

B. Hypothesis making

C. Data collection

D. Data analysis

E. Data interpretation

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.Cand D only
4. D and E only
Options :
71087043717. 1
71087043718. 2
71087043719. 3
71087043720. 4

Question Number : 10 Question Id : 71087010970 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043717. 1
71087043718. 2
71087043719. 3
71087043720. 4

Sub-Section Number : 2
Sub-Section Id : 710870316
Question Shuffling Allowed : Yes

Question Id : 71087010971 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gr
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

According to Richard Beckhard, a transformation represents a vital organizational change.
Transformation is characterized by certain features that clearly differentiate it from other types
of change. First, according to Beckhard, it involves substantial and discontinuous change to the
shape, structure, and nature of the organization, rather than incremental adjustments and fine-
tuning of the current situation. One example of a discontinuous change would be when a firm
changes from being production-driven to being customer-driven. Another would be a merger
of two organizations. In both instances, the shape of the organization can be expected to
change radically. An organization transforming from a production orientation to a customer
orientation will need to drastically decentralize and delegate authority. In a merger, entirely
new roles and working relationships will be created.

A second characteristic of transformation is that the need for change is caused by forces
external to the organization rather than forces inside the organization. A typical example
would be when an organization changes from a functional to a divisional structure in response
to market forces or industry pressures in the form of competitor actions or regulatory changes.



Tl &= HIU:II Fﬂmﬂ: bl EIHIIJ HINE HIlS Y = &S qu::uun:r BITEE W11 WY

According to Richard Beckhard, a transformation represents a vital organizational change.
Transformation is characterized by certain features that clearly differentiate it from other types
of change. First, according to Beckhard, it involves substantial and discontinuous change to the
shape, structure, and nature of the organization, rather than incremental adjustments and fine-
tuning of the current situation. One example of a discontinuous change would be when a firm
changes from being production-driven to being customer-driven. Another would be a merger
of two organizations. In both instances, the shape of the organization can be expected to
change radically. An organization transforming from a production orientation to a customer
orientation will need to drastically decentralize and delegate authority. In a merger, entirely
new roles and working relationships will be created.

A second characteristic of transformation is that the need for change is caused by forces
external to the organization rather than forces inside the organization. A typical example
would be when an organization changes from a functional to a divisional structure in response
to market forces or industry pressures in the form of competitor actions or regulatory changes.
Currently, globalization is one of the most powerful external forces for organizational
transformation.

A third distinguishing feature of transformation is that the change is deep and pervasive,
rather than shallow and contained. The change affects all parts of the organization and
involves many levels. Decentralization, downsizing and the geographic relocation of functions
and activities exemplify changes that transform structural relationships deeply and pervasively.

Finally, transformation requires significantly different, and even entirely new, sets of actions by
the members of the organization, rather than more or less of existing behavior patterns.
Examples are changes to the norms and core values of an organization that are brought about
through acquisition, deregulation, and privatization or through a drastic strategic repositioning
such as shifting from a production-efficiency focus to a customer-service strategy.

Sub questions

Question Number : 11 Question Id : 71087010972 Question Type : MCQ Option Shuffling : No Display Qu



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to Richard Beckhard, transformation is what kind of change in the
organisational structure?

1. Incremental
2. Discontinuous
3. Finetuning

4, One-time
Options :
71087043721. 1
71087043722. 2
71087043723.3
71087043724. 4

Question Number : 12 Question Id : 71087010973 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What happens when two organisations merge?

A. Shape of the organisation will change

B. Product orientation remains the same

C. Drastic decentralisation of authority

D. Discontinuous change does not take place

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only



Options :

71087043725. 1
71087043726. 2
71087043727.3
71087043728. 4

Question Number : 13 Question Id : 71087010974 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The pressure of market force can result in

1. Distortion of role perceptions

2. Changing to a functional structure
3. Changing to a divisional structure
4. Deregulation of competitive factors
Options :

71087043729. 1

71087043730. 2

71087043731. 3

71087043732. 4

Question Number : 14 Question Id : 71087010975 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the main levels of organizational transformation?
A. Downsizing

B. Geographical relocation

C. Contained changes

D. Power to external forces

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087043733. 1
71087043734. 2
71087043735. 3
71087043736. 4

Question Number : 15 Question Id : 71087010976 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does organizational transformation require?

1. Strengthening existing behaviours of members
2. Changes in norms and core values

3. Production-efficiency strategy

4. All pervasive structural relationships

Options :

71087043737. 1

71087043738. 2



71087043739. 3
71087043740. 4

Question Id : 71087010971 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gr
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087010972 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043721. 1
71087043722. 2
71087043723. 3
71087043724. 4

Question Number : 12 Question Id : 71087010973 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087043725. 1
71087043726. 2
71087043727. 3
71087043728. 4

Question Number : 13 Question Id : 71087010974 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087043729. 1

71087043730. 2

71087043731. 3

71087043732, 4

Question Number : 14 Question Id : 71087010975 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. FAAA AR D
Options :
71087043733, 1
71087043734. 2
71087043735, 3
71087043736. 4

Question Number : 15 Question Id : 71087010976 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
WGBS T & oL 71 HUTRA © 7

1. Y& Hl & Udid 0deR &I Yoo idxl
2. qHi Ud Hdbigd Jcdl § 9gad

3. 3G DI DI WHIT

4. [H TIAHED AT TaY
Options :

71087043737. 1




71087043738. 2
71087043739. 3
71087043740. 4

Sub-Section Number : 3
Sub-Section Id : 710870317
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087010977 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The domain of media appeal addresses the issues related to

1. Knowledge
2. Learning

3. Legality

4. Emotions
Options :
71087043741. 1
71087043742.2
71087043743. 3
71087043744. 4

Question Number : 16 Question Id : 71087010977 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i anfier @1 ora g T O TR & 7

1. 3

2. AfETH
3. fafiran
4, T
Options :



71087043741. 1
71087043742. 2
71087043743. 3
71087043744. 4

Question Number : 17 Question Id : 71087010978 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following will make a student a good listener in the classroom?
A. Ability to deflect attention

B. Concentration

C. Desire to understand

D. Emotional outbursts

E. Humility to know

F. Ignoring the other side

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, E and F only
4. B, Cand Eonly
Options :
71087043745. 1
71087043746. 2
71087043747. 3
71087043748. 4



Question Number : 17 Question Id : 71087010978 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HETd uRaw § Fgifed # 8 o1 91 yaf faenif &1 Ud =1 41d1 sH1e

A. @ g ftid g4 & &l
. MBS

C. 3AJaY Pl THI

D. G [g¥mie

E. W+ Haelt fasd

F. GOR U8l 1 IJUal &3l
Tel f[dded &l 994 BT ;

1. #gd A, B3R C
2. $dd B, C3RD
3. $ad D, E3RF
4 &dd B, CARE
Options :
71087043745. 1
71087043746, 2
71087043747. 3
71087043748, 4

Question Number : 18 Question Id : 71087010979 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Pedagogy and social interaction are two major areas of activity of teachers
Reason R: It is communication that is crucial for making both the activities important

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043749. 1

71087043750. 2

71087043751. 3

71087043752. 4

Question Number : 18 Question Id : 71087010979 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR FU RU T E . UF B 3B (4) 3R T B dd (R) Hel T & :

YA (A) : 18D & & UHE B 387 © - A& AR DI SIHBRI aul YD SHaidha|
R) : 31 &Ml &1 &I Hew@qul 81 e SN 3dd Hew@qy &l

IRiad BYH & el H Fdifed el # 3 Jalfte guged w4 :

1. (A) 3R (R) SHT TET & 3R (R), (A) BT TSI S B
2. (A) IR (R) HI TEI € 3R (R), (A) BT UL SIS 5] 2|
1@)?@%@ (R) T &

)

4, (A)TEd & (R) TRT B



Options :

71087043749. 1
71087043750. 2
71087043751. 3
71087043752. 4

Question Number : 19 Question Id : 71087010980 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 1

Types of listeners Characteristics

A. Poor listeners . Scare others

B. Aggressive listeners Il Easily agree with the speaker

C. Passive listeners lll. Listen to ideas, but no emotions behind
D. Pseudo-intellectual IV. Fidget repeatedly

Choose the correct answer from the options given below:

TLA-LB-1ILC-ILD-1IV
2ZA-ILB-N,C-1V,D-I
3A-IILB-IV,C-1,D-1l
4 A-IV,B-LC-II,D-1
Options :

71087043753. 1
71087043754. 2
71087043755.3
71087043756. 4

Question Number : 19 Question Id : 71087010980 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Gai-| DI Tail-1| & Ty FHEfed B -

-] Tl- 11
iarl HIUGR  (fa2gan

A DI YA LRI DISAAE
B. 3THHE® i1 |11 9ol § 3MHHI § YgHd &l 9d &

RS s 11, [aTRI @71 4301 F3d © e 98 @i HIE Tl
| il

D?'gﬁ E Iv. SRR 39¢ oMl

Fafiad 9ol § ¥ 98 S gHu -

TLA-LB-ILC-IILD-1IV
ZA-1ILB-NLC-IV,D-1
3A-IILB-IV,C-1,D-1i
4 A-IV,B-LC-1IILD-1I
Options :

71087043753. 1
71087043754. 2
71087043755.3
71087043756. 4

Question Number : 20 Question Id : 71087010981 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the following educational communication ventures
in India

A. Krishi Darshan

B. Gyan Darshan

C. Vyas

D. Gyan Vani

Choose the correct answer from the options given below

1. A BCD
2B CDA
3.D0,A, B, C

4 A, DB C
Options :
71087043757. 1
71087043758. 2
71087043759. 3
71087043760. 4

Question Number : 20 Question Id : 71087010981 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HRd H Aferd T8N0 IumHl & GaH § Fyifed H§ ¥ 98! SdIa-aR $49 93U :
A. DY G
B. I &R

C.@N
D. 3 i
i feu e fawenl @ € w6l S 9T

1. A BCD
2B CDA
3.D0,A, B, C

4 A, DB C
Options :
71087043757. 1
71087043758. 2
71087043759. 3
71087043760. 4

Question Number : 21 Question Id : 71087010982 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference of the square of two consecutive even numbers is 84. What is the sum of these
two consecutive even numbers?

1. 34
2. 38
3. 36
4.42
Options :



71087043761. 1
71087043762. 2
71087043763. 3
71087043764. 4

Question Number : 21 Question Id : 71087010982 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&l Pl T8 YB3l & a7l & SfaR 84 51 T4 G it U8 TEA1S &l TR I g 2

1. 34

2. 38

3. 36

4. .42

Options :
71087043761. 1
71087043762. 2
71087043763. 3
71087043764. 4

Question Number : 22 Question Id : 71087010983 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series
0,8 24,48, __

1.72
2. 96

3.120

4. 80

Options :
71087043765. 1



71087043766. 2
71087043767. 3
71087043768. 4

Question Number : 22 Question Id : 71087010983 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafciad sid g@a H 3ATd 3id DI Ugd diferg
0,8, 24, 48, __

1.72
2. 96

3.120

4. 80

Options :
71087043765. 1
71087043766. 2
71087043767. 3
71087043768. 4

Question Number : 23 Question Id : 71087010984 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mr X is 40 years old and Mr Y is 60 years old. How many years ago was the ratio of their ages
3:57

1. 15 years
2. 10 years
3. 20 years
4, 30 years
Options :



71087043769. 1
71087043770. 2
71087043771. 3
71087043772. 4

Question Number : 23 Question Id : 71087010984 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ERE X 1 311 40 T4 & 3N fiRex v @1 3 60 39 £ [5d- a8 Ugd 31 GH1 &I 31 B 391 3
:5 YI?

1.15 34
2,10 T4
3,20 94
4,309
Options :
71087043769. 1
71087043770 2
71087043771 3
71087043772 4

Question Number : 24 Question Id : 71087010985 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a river from a fixed location, two identical boats start moving up-stream and down-stream,
respectively. The speed of the water current in the river is 3km/hour. If the speed of each of
the boats in still water is 15km/hour, the separation between the boats after 12 minutes will be

1. 3.6 km
2. 5.6 km
3. 6.0 km
4. 7.2 km



Options :

71087043773. 1
71087043774. 2
71087043775. 3
71087043776. 4

Question Number : 24 Question Id : 71087010985 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ool 7E1 § ue [iEd =F 9 & Hied $HR: 96 & URT & fausid SR 741 1 4R &1 AR TH
Fdl & | TAYRI @1 71d 3 [l /der g1 afg 33 el Jiwrsil § U ud® Jie & 1fd R Sa d
15 T A/ ©e1 8 dl 12 e & ugiq aiFl Aiared & s ol gl giil -

1. 3.6 T AT,

2. 5.6 T HI.

3. 6.0 T HI.
4, 7.2 o,
Options :
71087043773. 1
71087043774. 2
71087043775. 3
71087043776. 4

Question Number : 25 Question Id : 71087010986 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following letter series and identify the next term
ace, thj, kmo,

1. npr

2. rtv

3. prt

4. uwy
Options :
71087043777. 1
71087043778. 2
71087043779. 3
71087043780. 4

Question Number : 25 Question Id : 71087010986 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafciiad aui - W TR BT 3R 3 Ug $I UgaH Hield ;
ace, thj, kmo, ___

1. npr

2 rtv

3. prt

4, uwy
Options :
71087043777. 1
71087043778. 2
71087043779. 3
71087043780. 4

Question Number : 26 Question Id : 71087010987 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List 11
Theories Philosophers
A. Episteme and Doxa . Aristotle

B. Potential and Actual being Il. Hegel

C. Vyavaharika and Parmarthik lll. Sankara

D. Rational and Actual IV. Plato

Choose the correct answer from the options given below:

TLA-LB-ILC-IILD-1IV
ZA-1ILB-NLC-IV,D-1
3A-IILB-IV,C-1LD-1
4 A-IV,B-LC-NLD-1
Options :

71087043781. 1
71087043782. 2
71087043783. 3
71087043784. 4

Question Number : 26 Question Id : 71087010987 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gai-1 il Gali-11 & 9y GAferd Hifor -

qal-| -1l

fgia MHEIEED
A. TURETH a1 Siad . 3RE],
B. §Y3 U4 afd® wiig I
C. A9elRe Ud URerda 111X
D. difdhd Ud aRdid® V. ©iel
e fau 71e fasedl o O Ugl fade U :

1T.A-LB-1I,C-1I,D-1IV
2ZA-ILB-U,C-IV,D-1
JA-ILB-IV,C-ILD-1
4AA-IV,B-ILLC-1lIL,D-1
Options :
71087043781. 1
71087043782. 2
71087043783. 3
71087043784. 4

Question Number : 27 Question Id : 71087010988 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What type of cognition is beyond the ambit of perception?

1. Anumiti

2. Upamiti

3. Nirvikalpaka pratyaksha
4. Savikarpaka pratyaksha
Options :

71087043785. 1



71087043786. 2
71087043787. 3
71087043788. 4

Question Number : 27 Question Id : 71087010988 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U0 & Gk § W Fgifed § 9 S19-91 AU A e 2
fafeiad 5 9 98 fadey 91

1. A
2. 3ufdfd

3. ideas uas
4. giddhedd el
Options :
71087043785. 1
71087043786. 2
71087043787. 3
71087043788. 4

Question Number : 28 Question Id : 71087010989 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Golden mountain is fiery because it is smoky’
Which type of fallacy is committed by the above inference?

1. Asraya siddhi

2. Svarapa siddhi

3. Vyapyatva siddhi
4. Savyabhichara



Options :

71087043789. 1
71087043790. 2
71087043791. 3
71087043792. 4

Question Number : 28 Question Id : 71087010989 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

GAET1 Uad H9HY & F1 I8 YHaH & 39 A H BH-9 saHN § 7

1. YIS
2. ey fafg
3. AIAG
4. AR
Options :
71087043789. 1
71087043790. 2
71087043791 3
71087043792. 4

Question Number : 29 Question Id : 71087010990 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a proposition which is particular affirmative,

1. Subject term is distributed but the predicate is not distributed
2. Neither the subject nor the predicate is distributed

3. Both subject and predicate are distributed

4. Subject is undistributed but predicate is distributed

Options :

71087043793. 1



71087043794. 2
71087043795. 3
71087043796. 4

Question Number : 29 Question Id : 71087010990 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fordl dbaray forgd a2y faareTadl gl 8, 98 © -

1. 35%9 Ug fdaid BidT & WR=g a4y faala & giar g
2. 3537 AR faeg # 15 Hi fgaid 781 g g1

3. 9520 3R {34y gHi faaRd gid B

4, 3£ =Y faalka a1 81T © g fada faaRa g g
Options :

71087043793. 1

71087043794. 2

71087043795. 3

71087043796. 4

Question Number : 30 Question Id : 71087010991 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
Concepts Schools

4. Abhava . Jainism

B. Anupalabdhi Il. Buddhism
C. Apoha lll. Vedanta
D. Syadavada IV. Nyaya

Choose the correct answer from the options given below:

TA-ILB-1LC-1,D-1IV
2ZA-IILB-IV,C-IlLD-1
JA-IV,B-ILC-ILD-1
4AA-L,B-ILC-1IV,D-1lI
Options :

71087043797. 1
71087043798. 2
71087043799. 3
71087043800. 4

Question Number : 30 Question Id : 71087010991 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l
SGYRUM quary
A, YT G
B. 3Udied . ¥l
C. U8 I, deid
D. Wedig V. T
e fau e fasedl ©f @ U8l IR gHU:

TA-ILE-N,C-1,D-1V
ZA-ILB-IV,C-II,D-1
SA-IV,B-ULC-ILD-1
4 A-1L,B-ILC-1V,D-1l

Options :

71087043797. 1
71087043798. 2
71087043799. 3
71087043800. 4

Sub-Section Number : 4
Sub-Section Id : 710870318
Question Shuffling Allowed : Yes

Question Id : 71087010992 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gr
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



Study the data table and answer the questions that follow

The following table shows the maximum marks of each subject inside the bracket and
percentage of marks obtained by seven students in six different subjects in the exam

Computer
Student/Subject science |Chemistry Physics/Geography History Math
(150) (130) | (120) | (100) (50) | (40)
Piyush 90 50 90 60 70 80
Gaurav 100 80 80 40 80 70
Mayank 90 60 70 70 90 70
Vimal 80 65 80 80 60 60
Vikas 80 65 85 95 50 90
Varun 70 75 65 85 40 60
Ashish 65 35 50 77 80 80

Sub questions

Question Number : 31 Question Id : 71087010993 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What are the average percentage of marks (%) obtained by all the seven students in Physics?

1. ~82.42
2. ~74.28
3. ~86.24
4. ~95.14



Options :

71087043801. 1
71087043802. 2
71087043803. 3
71087043804. 4

Question Number : 32 Question Id : 71087010994 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who obtained 60% and above marks in all subject is:

1.4

25

3.2

4.1

Options :
71087043805. 1
71087043806. 2
71087043807. 3
71087043808. 4

Question Number : 33 Question Id : 71087010995 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What are the aggregate of marks obtained by Mayank in all the six subjects?

1. 432

2. 456

3. 460

4. 440
Options :
71087043809. 1



71087043810. 2
71087043811. 3
71087043812. 4

Question Number : 34 Question Id : 71087010996 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which subject is the overall percentage the best?

1. Computer Science
2. Chemistry

3. Math

4. Physics

Options :
71087043813. 1
71087043814. 2
71087043815.3
71087043816. 4

Question Number : 35 Question Id : 71087010997 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the overall percentage of Ashish?

1. 54%

2. 68%

3. 59.66%

4. 63%
Options :
71087043817. 1
71087043818. 2
71087043819. 3
71087043820. 4



Question Id : 71087010992 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gr
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension

fFrrafafea afie Tde fva & oo i@ o Fige § iR Tien & o8 ffis fual & 9@

BTET g U fu e it & ufewa guidt B
He fagH | TR | ifdst |y | sfaer | afrd
EIENAGLEI
(150) (130) (120) | (100) | (50) | (40)
Uiy 90 50 9 | 60 | 70 | 80
g 100 80 80 | 40 | 80 | 70
HaD 90 60 70 70 90 | 70
faaa 80 65 80 | 80 | 60 | 60
faag 80 65 85 95 | 50 | 90
G| 70 75 65 | 85 | 40 | 60
iRy 65 35 50 | 77 | 80 | 80

Sub questions

Question Number : 31 Question Id : 71087010993 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it Ora faential gr Hifidet & ur e 70 3ffgd 3fd () T e ¢

1. ~82.42
2. ~74.28
3. ~86.24
4, ~95.14
Options :
71087043801. 1
71087043802. 2
71087043803. 3
71087043804. 4

Question Number : 32 Question Id : 71087010994 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
G fawgl H 609 AR ST e 3id YTt B a1 STl bl GBI F1 8 ?

1.4

2.9

3.2

4.1

Options :
71087043805. 1
71087043806. 2
71087043807. 3
71087043808. 4

Question Number : 33 Question Id : 71087010995 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Wi &1 94! B faudl &1 o Uidie g ?

1. 432

2. 456

3. 460

4. 440
Options :
71087043809. 1
71087043810. 2
71087043811. 3
71087043812. 4

Question Number : 34 Question Id : 71087010996 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g [avg § urie! &f 999 Ufd9iddl 9aiad &2

2. XHIOA d
3. T1ford

4, Hifdet
Options :
71087043813. 1
71087043814. 2
71087043815. 3
71087043816. 4

Question Number : 35 Question Id : 71087010997 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Jmefiy &1 999 ufaed o & 2

1. 54 %

2. 68 %

3. 59.66 %

4. 63 %
Options :
71087043817. 1
71087043818. 2
71087043819. 3
71087043820. 4

Sub-Section Number : 5
Sub-Section Id : 710870319
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087010998 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation I1SP?

1. International Service Provider
2. Internet Service Provider

3. Internet Software Provider

4. Internet Service Product
Options :

71087043821. 1

71087043822. 2

71087043823. 3

71087043824. 4

Question Number : 36 Question Id : 71087010998 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

"HTs U Ul TiEd UG & R EU Al 8 7

1. 3SR 9idg Ulargs
2. 3e¢-e Oidg Uiaigsy

3. 32 UIHE R HiaiEa
4, 3 iy Uisae
Options :

71087043821. 1
71087043822. 2
71087043823. 3
71087043824. 4

Question Number : 37 Question Id : 71087010999 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the name for a web page address?

1. Directory

2. Folder

3. Domain

4. URL
Options :
71087043825. 1
71087043826. 2
71087043827. 3
71087043828. 4

Question Number : 37 Question Id : 71087010999 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d9 N USH o U AH |1 8 7

1. STAER]

2. hieaY

3. A

4. 9 HR Tq
Options :
71087043825. 1
71087043826. 2
71087043827. 3
71087043828. 4

Question Number : 38 Question Id : 71087011000 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Privacy and security of user data is at stake on the Internet

Reason R: No steps are being taken by the user for the security and privacy of data

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087043829. 1

71087043830. 2

71087043831. 3

71087043832. 4



Question Number : 38 Question Id : 71087011000 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

R T RUTE . @ & G Y (4) IR TN B 96 (R) BT TS
FBUT (A) : Se3 W S[E Waiad ®1 (ofar iR qRaf &ld W el 8l

dd (R) : WAIST R1 SIE1 &1 QR&T 3R ol g Sl WO el U o & 2|
IRiad BYH & el H Fdifed el # 3 Jalfte guged w4 :

1. (A) 3R (R) THI Wel € 1R (R), (A) BT Tg ARATE|
2. (A) IR (R) G TET § 3R (R), (A) BT T ARG TLT &
3. () TE1 8 R (R) TR T &

4. (A) TE1 TR € R (R) WET 2

Options :

71087043829. 1

71087043830. 2

71087043831. 3

71087043832. 4

Question Number : 39 Question Id : 71087011001 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a system software?

1. Compiler

2. Operating System

3. Application Software
4. Editor

Options :

71087043833. 1



71087043834. 2
71087043835. 3
71087043836. 4

Question Number : 39 Question Id : 71087011001 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e # 9 oF-ar ey giedm 38 & 2

1. DU
2. HIRIAT Rreeq
3. TEiih¥H HIFEaR
4. UfsR
Options :
71087043833. 1
71087043834. 2
71087043835.3
71087043836. 4

Question Number : 40 Question Id : 71087011002 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is excluded from the domain of Artificial Intelligence?

1. Computer Vision
2. Machine Learning
3. Deep Learning

4. Text

Options :
71087043837. 1
71087043838. 2
71087043839. 3



71087043840. 4

Question Number : 40 Question Id : 71087011002 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafifed & @ oF-u ohm g8 e st F s T e ?

Options :

71087043837. 1
71087043838. 2
71087043839. 3
71087043840. 4

Question Number : 41 Question Id : 71087011003 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are Millennium Development Goals?
A. Eradicating extreme poverty and hunger

B. Improving maternal health

C. Addressing climate change

D. Promoting gender equity and empowerment of women

E. Ensuring energy security for all

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, C DandE only
3ABCDandE

4. A, B and D only
Options :
71087043841. 1
71087043842. 2
71087043843. 3
71087043844. 4

Question Number : 41 Question Id : 71087011003 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hedles] faery ded Fafii@d d e 98 2

A, Sfcdfdd FEHar R Y@ &1 39 BT

B. H1g W H YR oH

C. Sciarg Ufkdd- daedt FH1EH ST

D. T I® UM AR Ofea 9RIfddmu &I g1l ol
£, g & foe Foil GRam gifEd &

i U 7T fqchedl # € U5l STk &1 99 Hifol -

1. PadA, B, C3IR D
2. ®HadA C DIRE
3.A B, C D3IRE

4. HadAA B3R D
Options :
71087043841, 1
71087043842, 2
71087043843. 3
71087043844, 4

Question Number : 42 Question Id : 71087011004 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of energy sources in terms of their heat of combustion in
increasing order

A. Methane

B. Natural fats and oils

C. Dry wood

D. Green wood

Choose the correct answer from the options given below

1. A CBD
2.D,CBA
3.D,B,C A
4.D,C A B
Options :
71087043845.
71087043846.
71087043847.
71087043848.

AW N~

Question Number : 42 Question Id : 71087011004 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FofaRad ol 9idl @ aed o1 & 9ad d 370 98l 3Riel %H & GegH HIvid ;

A Hlg

B. MTdpfdids aal 3R dd

C. Y5 DI

D. §Rd @18
fFafaad faeedl 5 9 98l I 9 -

1. A CBD
2.D,CBA
3.D,B,C A
4.D,C A B
Options :
71087043845.
71087043846.
71087043847.
71087043848.

AW N~

Question Number : 43 Question Id : 71087011005 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Polluted rivers with very high values of Biological Oxygen Demand (BOD) may
produce a foul smell

Reason R: Anaerobic bacteria produce sulphur dioxide and oxides of nitrogen

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087043849. 1

71087043850. 2

71087043851. 3

71087043852. 4

Question Number : 43 Question Id : 71087011005 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



RGP RUTE . 1o &1 SfidHE (A) R TR B dF (R) BT -

HBU (A) - Sfa® Siiadior A7 (@& < 3Y) B SH! 3w T ardl Ugud Aeal o g M1dl g
dd (R) : TRIfdH daIRAT e SRHI3S AR Ao & HHRISS Ual dd 6|

U BYAl b el H Fgifed fddedl | 9 Faiites 3uged S g -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) 3R (R) GHI T8I 8 3R (R), (A) DI Ul SRSAT 781 5|
3. (A) 981 & TR (R) ¥ol Te! &

4. (A) Bl 61 8 ¥ (R) 9Bl 5|

Options :

71087043849. 1

71087043850. 2

71087043851. 3

71087043852. 4

Question Number : 44 Question Id : 71087011006 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



High hazard wastes may contain

A. Pathogens

B. Radioactive wastes

C. Non-reactive substances

D. Corrosive substances

Choose the correct answer from the options given below

1. A, B and D only
2.A, B, Cand D

3. B and D only

4. A B and C only
Options :
71087043853. 1
71087043854. 2
71087043855. 3
71087043856. 4

Question Number : 44 Question Id : 71087011006 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



31fec WD SHUIPT # A 61 Fbd & -

A. QYIS

B. g 3iufdea sufiy

C. smfdish gD g

D. H&iReb gty

A f&u T fAeedl # € Hel IR &1 99 DI :
1. ®ad A, B 3R D

2. A, B, C3HRD

3. $ad B 3R D
4, HIAA BIAR C
Options :
71087043853. 1
71087043854. 2
71087043855. 3
71087043856. 4

Question Number : 45 Question Id : 71087011007 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In case of which of the following primary pollutants, the man-made contributions to global
emissions (million tonnes per year) is more compared to that from natural sources?

1. Sulphur dioxide
2. Nitric oxide

3. Methane

4. Carbon dioxide
Options :



71087043857. 1
71087043858. 2
71087043859. 3
71087043860. 4

Question Number : 45 Question Id : 71087011007 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafaiad o O forg mrufiie ugue & 9| § afde SceH (Uil ay g o) & ded |
UTdidd Fidl @1 qa-1 5 3Hd o (301 B IRIGH SH1U® & ?

1. TR SIS S
2. AI3fedh AHHZS
3. die

4, PIET SHFES
Options :
71087043857. 1
71087043858. 2
71087043859. 3
71087043860. 4

Question Number : 46 Question Id : 71087011008 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the Universities named below, correspondence courses were initiated in 19627

1. University of Madras
2. University of Bombay
3. University of Calcutta
4. University of Delhi
Options :

71087043861. 1



71087043862. 2
71087043863. 3
71087043864. 4

Question Number : 46 Question Id : 71087011008 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafafad o 4 feg fayufaarea o 94 1962 T TAER Uregshdl &1 X3 &1 18 i 2

1. A5 fayfa=re

2. Sras fayfaamay

3. Sodl [ayfaemy
4, feeeil fayfaeneg
Options :
71087043861. 1
71087043862. 2
71087043863. 3
71087043864. 4

Question Number : 47 Question Id : 71087011009 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in feudal society of Europe
were classified under trivium?

A. Geometry

B. Astronomy

C. Grammar

D. Logic

E. Rhetoric

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087043865. 1
71087043866. 2
71087043867. 3
71087043868. 4

Question Number : 47 Question Id : 71087011009 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



R & W FHIS H I TR R SeRae] e & Fafifad d 9 o7 39 - el of efagm &
{qifd afieea fesar T 1 -

A, ST

B. TIe fasi

C. B

D. dth

E. SO HRIRE

A f&u T fAeedl # € Hel IR &1 99 DI :

1. PadA A, B3R C
2. ®HaAB, C3RD
3. ®adC, D ARE
4. HAAA DIARE
Options :
71087043865 1
71087043866. 2
71087043867. 3
71087043868. 4

Question Number : 48 Question Id : 71087011010 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following categories of colleges is primarily intended for creating work ready
manpower on a large scale?

1. Autonomous college
2. Community college
3. Agriculture college
4. Technical college
Options :

71087043869. 1
71087043870. 2
71087043871. 3
71087043872. 4

Question Number : 48 Question Id : 71087011010 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafeRad 5 9 foy 9ol & deriaenadl & WuiEe 3539 Aus UHH | B g 99R SHRIG
&I A HATEAIE 2

1. T Helfdeeg
2. g™ Helfaercy
3. PN HgIfdee™

4. db-1d] Oelidgag
Options :
71087043869. 1
71087043870. 2
71087043871. 3
71087043872. 4

Question Number : 49 Question Id : 71087011011 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Synchronous communication takes place through which of the following technologies?
A. Video chat

B. Virtual classrooms

C. Audio conferencing

D.Wikis

E. Electronic mail

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087043873. 1
71087043874. 2
71087043875. 3
71087043876. 4

Question Number : 49 Question Id : 71087011011 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o & ¥ fow def®! & A 9 gasias 9iee 9ied il & 2
A. ditsgl de

B. SHTHTHT BHET

C. 3HITET BB

D. fafdg

. 3aldel® Ha

fFafaiad faeedl 5 9 98l S g -

1. PadA A, B3R C
2. ®HaAB, C3RD
3. ®aAC, D R E
4. HaAD, E AR A
Options :
71087043873. 1
71087043874. 2
71087043875. 3
71087043876 4

Question Number : 50 Question Id : 71087011012 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Levels of academic freedom in higher/Concerns at their levels
education institutions

. Democratic functioning in the higher education
4. Personal level system and believing each individual worthy of
attention

) Il. Standard of behaviour and ethics we adopt
B. Professional level
and develop for ourselves

o 11l. Values which influence and cushion the
C. Institutional level , . ,
operation of higher education

IV. Exercising personal and professional values
D. Societal level within the concept of the higher education

institution

Choose the correct answer from the options given below:

TLA-IWV,B-ILC-1,D-1
2ZA-1ILB-1LC-1V,D-1II
3A-IILB-IV,C-1LD-1
4 A-1,B-1ILC-IILD-1IV
Options :

71087043877. 1
71087043878. 2
71087043879. 3
71087043880. 4

Question Number : 50 Question Id : 71087011012 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tdi-1 H 3= a0 Geurell # siareife Waadl & W) ®f aul Jdi-1Il § 39d Yatf of g2 gl
G-I DI Fall-1l & Fry GHferd Bifere :

qal-| -1l
A dfddd |1 3= F21a uomelt § didedite SRGRU 3R Udd 989
Bt oafdd @ &9ar § 39y &1

b 1. B GRT 309 R S0TT o aret 3R s R e s

W' ; grel deR 3R Afddd &1 TR

;q 1. 3 I8 & URETeH @l BHIidd iR g §9HdTd §ed

D. TrETIR|1v. 3= e dwyreff 1 quron § Aafdrd ik Aeaids
TR el &l R H Tl
FafaRad [doeal § ¥ 98 S 4 -

1TLA-IV,B-1,C-1,D-1
ZA-1IL,B-1L,C-1V,D-1lI
JA-NLB-IV,C-1LD-1
4 A-1LB-ILC-IILD-1IV
Options :

71087043877. 1
71087043878. 2
71087043879. 3
71087043880. 4

PART II Philosophy
Section Id : 710870256
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



